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Fig.1 SCSI protocol and iSCSI protocol
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Fig.2 iSCSI Protocol Stack
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Fig.3 iSCSI Analysis System Overview
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Fig.4 iSCSI PDU format
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Transferred Packet
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Fig.5 iSCSI Read command as an example of protocol translation

O0s0000000000DOODOODODODOO 1000
000 Ethernet 00000000 OCOCOODODOO
o000 1000000 5200000 IPDOOO
000 TCPpOUOODDOODOODODOODO 5300
0000 100000000 480000 iSCSI PDU
00o0dooooooooooo iSCSI PDU OO
00000 o00o0o0oo TCp/IPOOOOOOOOO
00" 000000000000000 “SCSI Read
Command” 000 OOOOO 32KBO0OOO0O0O
googooooo

000 50 “Opcode”d 000 1000 OO “SCSI
Command” 0 O0O0OOO0O 4000 iSCSI PDU O
iISCSI 0D 0000000000000 O0“CSI
Commannd Read” O “SCSI Response” O iSCSI
PDU OO iSCSIPDU O iSCSIODOOOOOOOO
00 0O “SCSI Data-in” 00O 0O iSCSI PDU O iSCSI
goooboo0ooooooboooooobobooo

O0z2MO00000iscsipDUOOOOOOO0OCOODOOTCP/IPOO
ooboooooooooo

00 “SCSI Command” O iSCSI PDU 000033
000000 4800000 160000 SCSI CDB
0000000000000 D0O00 SCSI CDB O
1000000000 43000000 4800000
000000oooooooOog “SCSI CbB” 000
g0 s5120000000000000D0OODODO
0 0iSCSI0 00 00 “DataSegmentLength” O “Ex-
pected Data Transfer Length” 00 00 OJO00O0O0O
0000000 50000 “Expected Data Transfer
Length”=0x8000[0 0O ] O SCSI CDB OO “Data
Length”=0x40[5120 00 ]0 0000 32KB O Read
ooooooooog
0000o0oo0ooooooog iSCsIooooa
gogoboooooooboboooo

3.3 D0Oooooboooooooobobon

goboobooooooboooooobooooon,
gooobboboooboboooboooboooooo
ooopoooogoiscsiIoooooooooooo
0 TCp/IPOOOOOO “IPOODODOOODO” O “0



gogiscsionoooooooooooooooooooonoooooonoonooonooooonoooo

cycle | cycle | cycle | cycle | cycle

InitiatorHost

TargetHost L

305 32
Time[sec|

325 33 3.35 34

Ack - - -

e
Packet —

06 ODOOOOO A
Fig.6 Packet Transfer A

0000”0 200000000000000 iSCSI
000000000000 MSS (Maximum Segment
Size) 0O O0O0OOO0OOO TCPOOOOIPOO
0000000000000 Ethernet 000 O0OO
000o0000o0oUoooooooooooooooo
0000000000oo0o0ooooooooooo
0ooddofdooooooooooooooooood
0000000000 000DooOoiscsIoonoo
ooooooooooooooo
TCP O Window 00 00O Window 0 O O Win-
dowD 2000000000000 OOOOOO
Window 0O 00000000 O0OOOOOOCOO
0000 TCeOOOOUOOOODOOOOOUOOODO
O0o0o00ooooOOoTCPOOOOO AckOOOO
OO0 OO0 Window OODOOOODOOODODOODOCOCOO
00000000 Window DOODOOO0OOOO0OO
Jo00oododo 100o00o0oooooooooon
00000000000 AckOO0O0DO0OO0OO0DO0oOoooOoog
0000000000000 00 Window O OO
00000 Window D000 O0OO0OD0OO0DOOOOO
00000000000ooO0oooooooooooo
0000C0oOO0D00O0O0 WindowOQOGQOGOGOd
go0100C0000DObOODO00O0Od Window
000000000 xOoooooooooo
0oooooo OoSooo TCpOoooooooOoO
O0Linux 000000 DOOOOOO0OOOCDOODOOO
0Joo0oooo TCPpOOODDOOOODODOOOO

goboobooooooobbooboboooobobooo
gooooboooog

Open CWR
Yy | <
> | €
Cyclei | P Cycle

InitiatorHost

TargetHost B .

0 0.34

Time[sec]
Local Congestion /- - -
Congestion Window -

07 0O0OO0OOOOB
Fig.7 Packet Transfer B

ebO7000000O0O0O0O0DOOCOUODOOOOO
gooooooooobobotoooooo e0oobO
gobooocooooooOobooooooon 1ems0O0O
goooo00o00 2kBOO00O0OO0OO0ODODOO
0000 4. 000000000DDODOCOODOODOO
OO00O00O0OOORead D000 OCOOOODOOOO
gbooboooooooooboboooooboboobogon
000 500000000000000000 iSCSI
000000000000 0000 “4SCSI Seq. Read
Oo00oo”0000000000000000000
gobooocoOoooooooocooboooDoobo
gooooooo
grooOooOoOOOOOO0o0OoOobOOoOoooDoDn
000 1emsO00000O0OCO 4MBOOOOOOOO
O00Lnux 0000000 (00)000 Window
gooboooobooboooooboboboooooon
00 “4SCSI Read Command” 0000 OO0OOO0O
oooobooooooooooooboobOoboboDboooo
00000 ‘0000070000000 “ReadO O
oooooooOooOoooor’oo00oooooOooooon
00000000000 ReadOOOODODODBOO
goooobobobooobooobooooobbogon
goboobooobobooobobooooobbDboo
goboobooooboooboboooooooboooo
3.4 TCPOOOOOOOO
ooooooooooo TCcepoOoooooOooOO
0oooooooooooooooo TCpOoOoooo




00000000000 ’xx/xx Vol. Jxx—X No.xx

increase of
congestion windo

TCP_CA_Recovery

reduction of

TCP_CA_Open congestion window

normal state

reduction of
congestion window

gooo
State Machine

reduction of
congestion window

0 8 Linux TCP OO :
Fig.8 Linux TCP implementation :

0000000 ooooooooooTCPOODOO
000 TCPOODDODODOD OSOOOOOOO
goooooooooboboobobobooboobo
oooooooUooooooOooOoooo “TCp O
oooooOo"000oooooooooooooo
0000000 Linux TCPOOOOOOOOOOO
00000000000 Window OOOOTCP OO
gobooooooobooboooooboboo
Sack 00000000000 O0O0OOODOOOOOO
gooooono

Linux OSO TCPOO 80 00000OCDOODOO
gb0o0o000000 TCPCAOpen OO DOOOODODO
O0o0o00oo00oo0oooooooooooooooo
Window 00 000000000000 0OO0O0OOO
ooooo TCeOOOODOOOOOOOOODOOO
TCP_CA Recoveryll TCP_CA_CWROTCP_CA Loss 0 O [0
0000 Window O OO OQOOOO iSCSIODOOOO
0000000000000 TCP_CA RecoveryO O 8
O0oooooooOd AckO Sackd OO AckOOO
0000000oooooooooooo Ack O Sack
goobooooboooooobobooooobo
oooooOoooooOoO0oOoOooOoooooooo
O00000000000ooo0oO TCP.CACWROO
00o000o0o0oooo0o ECND Explicit Conges-
tion NotificationdO Local Device Congestion O O
00000000 b0O0bO0obDDO TCPCALoss O OO
goboooooboboboooooboobbooboooo
OO0 AckOO0O0O0ODOOODOOODOODOOOOOOOO
Jo0o000O00b000bOD0O0b000DbO00Linux O
000 TCPOOU0OODODOOOOOOODODODOO

Data A

target — initiator: . 1764642785:1764644233(1448)
target — initiator: . 1764642785:1764644233(1448)

target — initiator: . 1764644233:1764645681(1448)
target — initiator: . 1764644233:1764645681(1448)

target — initiator: P 1764645681:1764646673(992)
-=-->
Ack of B

initiator — target: . ack 1764645681
<4— initiator — target: . ack 1764645681

target — initiator: P 1764645681:1764646673(992)
target — initiator: P 1764645681:1764646673(992)

initiator — target: . ack 1764646673 win 49130
<4— initiator — target: . ack 1764646673 win 49130

09 0000000 TCPOOOOOOO : Timeout
Fig.9 Packet loss and TCP implementation behav-
ior : Timeout
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Table 1 Environment for Performance Evaluation 1

UNH IOL Draft 18
reference implementation
ver. 3

iSCSI Initiator, Target

iSCSI
MaxRecvDataSegmentLength
iSCSI MaxBurstLength
iSCSI FirstBurstLength

16777215 Byte

16777215 Byte
16777215 Byte

goooood Single Thread

02 00000000 2:00000
Table 2 Environment for Performance Evaluation 2
: PC Specification

CPU Pentium4 2.80GHz
Main Memory 1GB
OS Linux 2.4.18-3

Gigabit Ethernet Card

Network Interface Intel PRO/1000 XT Server Adapter

03 00O0O00OUOoOOoO 3:00000
Table 3 Environment for Performance Evaluation 3
: PC Specification

CPU Pentium4 1.5GHz
Main Memory 128MB
oS FreeBSD 4.5-RELEASE

Network Interface Gigabit Ethernet Card

Intel PRO/1000 XT Server Adapter x 2
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Checking Ack
“net/ipvé/tcp_input.c”
1839 static int tcp_ack_is_dubious(struct tcp_opt *tp, int flag)

1840¢ If an ack notifies “Sack” or “ECE”
then the ack is dubious.

If a packet “contains payload”,
“updates window” or “update ack”

:_ " then the ack is not dubious.

1 |

V| 1841 return( !(flag & FLAG_NOT_DUP) || (flag & FLAG_CA_ALERT) |

| 1842 [tp->ca_state 1= TCP_CA_Open );

I 1843} If state is not TCP_CA_Open then
2! T |itis regarded dubious.

O ]

TCA_CA_Open 13 TcP_cA_open

L

———————————————— 1 usually not dubious
1

Ack Processing

“net/ipv4/tcp_input.c”
1898 static int tcpfack(struq't soék *sk, struct sk_buff *skb, int flag) {
1954 if (tcp_ack_is_dubious(tp, flag)) {— =,

normal Ack

4.
4 1cp_ca_open

1958 tcp_cong_avoid(tp);

1959 tcp_fastretrans_alert(sk, prior_shd_una, prior_packets, flag);

1960  Jelse{ y=mm-- !

1962 tcpﬁcongfavoidpp); - -

o) .

1988} !

: 5: TCP_CA_Open
A 4

Increasing Congestion Window Slgvr\]/asstean Congestion Avoidance
“net/ipv4/tcp_input.c” (exponential Phase
1702 static void tcp_cong_avoid(struct tcp_opt *tp) { increasing) (liner increasing)
1704 if (tp->snd_cwnd <= tp->snd_ssthresh) { 3
1707 tp->snd_cwnd++; =< -§
1708 Yelsed ... =
1712 :‘ if (tp->snd_cwnd_cnt >= tp->snd_cwnd) { é
1714 : tp->snd_cwnd++; T TP
1715 i tp->snd_cwnd_cnt=0; Congestidn | § snd_ssthresh
1716 ! Yelse @ PoS
1717 L tp->snd_cwnd_cnt++; Phage ; £
LT T S E
1720} @

Time
0 A1 Linux TCP OO : OO “TCP_CA_Open”
Fig. A-1 Linux TCP implementation : State“TCP_CA_Open”
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Checking Ack
“net/ipvé4/tcp_input.c”

1839 static int tcp_ack_is_dubious(struct tcp_opt *tp, int flag)

1841
8404 If a packet “contains payload”,

“updates window” or “update ack”
then the ack is not dubious.

If an ack notifies “Sack” or “ECE”
then the ack is dubious.

1841

retun(|!(flag & FLAG_NOT_DUP) ||| (flag & FLAG_CA_ALERT) ||

1842

|tp->ca_state != TCP_CA_Open; );

1843}

If state is not TCP_CA_Open then

| it is regarded dubious.

TCP_CA_Open

ubious because of Sack

Ack Processing 1
1: TCP_CA_Open | “netlipva/tcp_input.c’ !
= I_\cT( \:nt_h g;:k_ 1898 static' int tcpiackl(slruq'tl
I 1954 if (tcp_ack_is_dubious(tp, flag)) {— = =
1958 tcp_cong_avoid(tp);
6: 1959
TCP_CA_Recovery | 1960 }else{
________ | 1962 tcp_cong_avoid(tp);
Ack 1963 )
1988}

1
sagk *sk, struct sk_buff *skb, int flag) {

tcp_fastretrans_alert(sk, prior_snd_unla, prior_packets, flag);

1 .
<142 1cP CA_Open

1
15: 1cP_ca_open
v

Decreasing Congestion Window
“net/ipv4/tcp_input.c”
1493 void tcp_fastretrans_alert(...) {

1631 tp->ca_state = TCP_CA_Recovery;—
1636 tcp_cwnd_down(tp); _
1638}

decrease congestion window

state change
from TCP_CA_Open to TCP_CA_Recovery

0 A-2 Linux TCP OO : OO “TCP_CA_Recovery”

Fig. A-2 Linux TCP implementation :
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Queuing Data 2: 7P cA_Open | ‘includeietitcp.h” .
1 - TCP_CA_Open | “netfipvaltcp_output.c” 1= Hi? Stanc‘ggz v;:jt;ci)}eg}t_)erac;\wr((:svtvrlgt top_opt "tp) {
"""""" —*| 188 int tcp_transmit_skb(struct sock *sk, struct sk_buff *skb) ! 1143} - ~ ’
send request 189 { 1
. _ try to enqueue data | !
277 err = tp->af_specific->queue_xmit(skb); I
278 if (err <= 0) - ! state change 5
279 return err: \ from TCP_CA_Open to TCP_CA_CWR
281 tcp_enter_cwr(tp),= = = = m = = = = m m m —m L mmm === - - 4
295} - -
if not success Checking Ack
“net/ipva/tcp_input.c”
1839 static int tcp_ack_is_dubious(struct tcp_opt *tp, int flag)
|m——mmmmmmm——mmm - — - > 1840
1 1841 return( !(flag & FLAG_NOT DUP) || (flag & FLAG_CA_ALERT) ||
4: . 1842 {tp->ca_state I= TCP_CA Open );
TCP CA CWR | 1843} h If state is not TCP_CA_Open then
1

5. T ‘it is regarded dubious.
[P, - IO A O e e = :

dubious because ca_state is not TCP_CA_Open but TCP_CA_CWR

if dubious

Ack Processing : !

3: TCP_CA_CWR | “netlipvd/tcp_input.c’!

""""" > | 1898 static int tcp_acl((st;uct sock *sk, struct sk_buff *skb, int flag) {
o 1954 if (tcp_ack_is_dubious(tp, flag)) {—= = =

«16: 1P cacwr

1958 tcp_cong_avoid(tp);
8: 1959 tcp_fastretrans_alert(sk, prior_snd_una, prior_packets, flag); Incrgasing C.ongestion Window
« TCP_CA_CWR 1960 }else { : “net/ipva/tcp_input.c” - -
-=- _A;k_ -= 1962 tcp_cong_avoid(tp); =~ - T—-—--- (= = » 1493 void tcp_fastretrans_alert(...) { decrease congestion window
T 1963 } 7: tcp_ca_cwr | 1636 tep_cwnd_down(tp);—
1988 } 1638}

0 A-3 Linux TCP OO : OO “TCP_CA_CWR”
Fig. A-3 Linux TCP implementation : State“TCP_CA_CWR”

Retransmit Timer Timeout

1: TCP_CA _Open “net/ipvé/tcp_timer.c”

______________ N L . .
Retransmit Timer Timeout 320 static void tcp_retransmit_timer(struct sock *sk)
321
375 tcp_enter_loss(sk, 0);
413}
T
G-t 2: 1cP_cA Open

“net/ipv4/tcp_input.c”

978 void tcp_enter_loss(struct sock *sk, int how) { state change
991 tp->snd_cwnd = 1; from TCP_CA_Opento TCP_CA_Loss

1019 tp->ca_state = TCP_CA Loss; — |
1022}

0 A-4 Linux TCP OO : OO “TCP_CA_Loss”
Fig. A-4 Linux TCP implementation : State“TCP_CA_Loss”
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